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���X� �ت �ا'�ر̂ -.� �$<�20000�� -.� �ت��>$� ا'�ر̂
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د�ا��fا#���?��i�,bد��- ا
�

�i�,bا�;Jاز
  )ا��fا#���

X��
+��ا�
از�jا���"Fkا�  X��;Jاز
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X��;Jاز
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��)% 40 - 30%(  �
ر�bت�أ���  X 22000غ(دج��-  44000  دج�20  ذ�(  

��c�dت��bر
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�"��ا��fا#��ا���اف��%$�#� 

��,�ل�] �̂�  

  )غ(دج��-  33000      

2. �UV)5&�ا�2ت����(#q"�1ادات�~�Z
��ل: "زاد��Z/�2: ���ا��$#Q "��7¤$#��UV)�]1ددHI'[�(�د�ا�5¨�ر(: (�(Y9�Q10 %  .

�ت� 
$�ت��D���ا'�ر̂Y��%ذ����(
�ت�ا<¥#,
)�) دج��#�D��ة�20( :��� و(#
²2�³ن�). دج��#�D��ة�5(��ا^$�n<=�9ب�ا'�ر̂

	��-ا�¨�.-��~�1اد  Xدج��X 12000((- ))20دج�X 8000 )+(5دج��20((دج�Y9���Q)��#�>��1ات�ا'"از5
)�أي��11000أQ��uـ�̂~
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�5X`�ز�ا��>´� -.� ���wر�"ن �و�$	�ر/"ن �µا'��ر� ])� ��9\و�"ن �. أ���
"ن ��$	�ر/) �µر���� (9	¥>� (
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  دج�37170  دج����F����L105���rـ�354  �$	�ر/"ن��Hs9ون

  دج�154875  دج����F����L75���rـ��2065  �$	�ر/"ن�أ���
"ن 

  دج�121835  دج����F����L35���rـ��3481  �$	�ر/"ن��>�
"ن 

 



  مراقبة التسيير: مقياس           02السلسلة           إدارة الأعمال    : السنة ثالثة            تخصص         قسم علوم التسيير  

5 
"B�(9	¥>ا��µه�ا'��رDBا'���9ق�.-�ا5`�ز���<
  ا�"�nuا<=>

  دج�31320  دج����F����L108���rـ��290  �$	�ر/"ن��Hs9ون

  دج�171680  دج����F����L74���rـ��2320  �$	�ر/"ن�أ���
"ن 

  دج�127600  دج����F����L40���ب�ـ�3190  �$	�ر/[��>�
"ن 

  :ا�8�
ب

1. �UV)5&�اف�X�F99)ا�	ا<¥��µر��	#)��#	ا'�9$�nu"ا��(
	��UV)ل�ا��9()�و�$�. 

2. �UV)5&�اف�X�F99)ا'�دود1)�ا�	ا<¥��µن�ا'��رs/ر�	ا'$�(
Y����UV)و. 

��5
��ا�9\ا�sن�ا�s<Q�9ن .3�UV)�Z#). 

4. �� (Y
�HIص�ا'�دود1)�وا�"¨AQ��7·6[�'��1/)�ا�"ر!)�ا��,�د	ت�ا� ��1o�	$��X�-¸.  

  ا<=�


Y)�ا�
��ا�$��#)�ا'�Y!�ة .1����-V)ا'�دود1)�و�UV(�،�$9ا��UV)5&�اف�X. 

 5X&�اف�(�UV�$�ل�ا��9() 1.1


ل(=   ��
ل�ا��F��ا���اف��%$����;?�
ل -�?���;Jاز
�(  X ;?�    ز�*��?

  )غ(دج� X 290  =870  )دج�105- دج�108(  ��,�ر+
ن��ARFون


ن �L�Lن�أ
  )ص)دج��-  (  X 2320  =2320دج�75 –دج��74(  ��,�ر+


ن �  )غ(دج��X 3190   =15950  )دج��35 –دج��40(  ��,�ر+
ن� ?�

���Fل�ا�
  )غ(دج��14500=       ا���اف��%$���

2.1 �UV)5&�اف�X�	$[�ا��ا�0  

���(=   ز�*�ا��,�ا���اف��%$�?�
ل�ا��F���ا�
از�L(  X ;J��ت��
از��������Wج�ا:9?�?;�–�L��ت��?��    

  )ص(دج� -  6720 =  دج�X 105  )���354-���290(  ��,�ر+
ن��ARFون


ن �L�Lن�أ
  )غ)دج��19125=  دج���(  X 75 2065 – ���2320(  ��,�ر+


ن �  )ص(دج��-10185=   دج�X 35  ) ���3481 – ���3190(  ��,�ر+
ن� ?�

  )غ(دج��2220=       ا���اف��%$�ز�*�ا��,�


Y)�وا5&�اف�(�UVا'�دود1) .2�HIا��UV)5&�اف�X 

1.2 �UV)ا5&�اف�(Y
  ا�$	�) �0/�( ���
��"����= (  ا��,�) �H+I(ا���اف��%$� �#?�
+��ا:9?jا���"Fkا�–�

��
+��ا�
از�jا���"Fkا�(  

X���?�?������,bت�ا���L  X�����Fل�ا�
��

;Jاز
  ا�

  

  )ص(دج� - 6090=  دج�X 5800���  X 105  )% 6 - % 5(  ��,�ر+
ن��ARFون


ن �L�Lن�أ
  )غ)دج�� 21750=   دج�(  X 5800���  X 75% 35 -% 40(  ��,�ر+


ن �  )ص(دج��-  8120=   دج�X 5800���  X 35  )% 59 -% 55(  ��,�ر+
ن� ?�

�"��ا���اف��%$�#� )H+I� غ(دج��7540=         ا��,�)(  

2.2��UV)دود1)ا5&�اف�����	ا�$  
��= (  ا��,��%$���دود&�ا���اف��?�?������,bت�ا���L – 

��
از�������,bت�ا���L(  

X���?�?������,bت�ا���L  X�����Fل�ا�
��

;Jاز
  ا�

  

  )ص(دج��- 630.=   دج�X 6 %  X 105  )�� 5900 -�� 5800(  ��,�ر+
ن��ARFون


ن �L�Lن�أ
  )ص)دج��-  2625=   دج���(  X 35 %  X 75 5900 -�� 5800(  ��,�ر+


ن �  )ص(دج��-  2065=   دج�X 59 %  X 35  )�� 5900 -�� 5800(  ��,�ر+
ن� ?�

  )ص(دج��-.5320.=         ا��,����دود&�ا���اف��%$�
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��5
��ا�9\ا�sن�ا�s<Q�9ن .3�UV)�Z
#$z 

  ).ا�"ر!)(�ري�ا�$	���p>�q�Hsxا'�F�6ا'$	����[�5X&�اف�(�UV�$�ل�ا��9()�وا5&�اف�(�UVز�[� -

ا'	�"�)��#	$	�ر/sن�ا'1Hs9[�وا��>�
sن،�) :z$�ب( ا'º2�rت�5^��(�UVار�,�ع�) �$�ل�ا�5X)()�9&�اف�ا��UV)��¹#9ا���$9 -

��	 �/"$z���1�oي�Dوا� o0ء��إ`Qتº2�r'ا�(�,A�'$�ا	ن��#s/ر�	نs
���:.  

�³:���
sن5X&�اف�ا��UV)��¹#9ا�0�[�ا�$	���5^��([�«"ل�ز�[�(	��ا'$	�ر/sن� -�/"$z���1�oي�Dوا��، oإ���¨u0ء�`Q

  .�Hs9ون�و�>�
"ن (1[�) �[�ا'$	�ري �:¦s�Hsنو�nuا�$	���#,��sن�


)�.-���Hsxإ�U،�أدى�ذ�%�:���
sن�"ن����
Y)�ا�$	����"رات��(Y9�Q���(/"�H��$ة�5&"�ا'$	�ر/sن�¼
�HIا��UV)ا5&�اف�

�³�/"$z���1�oي�Dوا��،F�6'ا�p>�q oإ�F�6'ا�p>�q�-.ي�Dا��(ا'�دود1�UV)5&�اف��Q��

�����µوا�Dي����ء��[��"ن�ا'��ر . ^0

�-.��78�>�$�5900��]��o�Q�()��6000رة��<��()��.  

�،(½���o5&�ا�2ت�Xه�DB �@A� oإ�¢
��rا�" . ا���UV)���1ان���رس�أ�(!ر ر�����UV)ت��B\'ت�ا�,
�"��¢#�A'��
وا����

]
  .^"دة�ا�$	�،�و��UV)�%�D���$Yا�0¾�


Yــــــــ) .4�HIـــــــــ"ص�ا'�دود1ـــــــــ)�وا�¨AQ��7·6ـــــــــ[�'��1/ـــــــــ)�ا�"ر!ــــــــ)�ا�ـــــــــ�,�د	ت�ا� ـــــــــ��1o�	$ــــــــ��X :�Fا��6ـــــــــ�UـــــــــV(�Fـــــــــ ) ا�"ر!ـــــــــ)(�1̂"

ا'$	ــــــــ�ر/sن�) (ـــــــ�وات( �2�rـــــــºت�ـــــــ�t،���/ـــــــ��ا�"ر!ــــــــ)��$�2ـــــــ)�'ـــــــ�ذا�. 9zـــــــ�$	��BـــــــDه�ا'$#"�ـــــــ)���&�1ـــــــ��«ــــــــ�ق��&9ـــــــsن�أدا¿7ـــــــ��أن


ــــــــ�.ــــــــ-�Bــــــــ1D[�ا'9ــــــــ�"/sن��ــــــــ[��:2ــــــــ�ادBــــــــ��BــــــــDا�5ــــــــ�^��(ــــــــ[�u#ــــــــ)�.ــــــــ-�). ز/�د·7ــــــــ�(ا'9ــــــــ1Hs[�وا��>�
ــــــــ"ن��ــــــــ��ر2$ ــــــــ��B¶ــــــــ"د��أو  ا��$w

 .¦���Q�(q"ر!)؟����Yب

ـــــــــــ�F�$�2ـــــــــــــ)�أ�ـــــــــــــ�Yب� ـــــــــــ[�ا�$	ـــــــــــــ�	ـــــــــــــ��1`ــ ـــــــــــ�(�ت�(	ـــــــــــــ��ا'$	ـــــــــــــ�ر/sن��.ا�9ـــــــــــــ#�¹) غ(��5X&ـــــــــــــ�اف�(Vـــــــــــــ�Uز�ــ وBـــــــــــــ��ز/ـــــــــــــ�دة��ــ

'ــــــــــ�ذا��ــــــــــ��ا�ــــــــــ£�Yال�. �Áــــــــــ�ات�Q	 ــــــــــ�ر·��7و�ــــــــــ\�B·��7أو�w$ــــــــــ"د�إ�ــــــــــ�Uإ^ــــــــــ�اءات�ا�$	ــــــــــ��ا� ــــــــــ�������oــــــــــ¤�7؟�إ�ــــــــــU:���ــــــــــ
sن�w$ــــــــــ"د�

�>¨ـــــــــ"د�او�ا�Aـــــــــ��D&ـــــــــ��n(ـــــــــ[��2 ـــــــــ��ا'$	ـــــــــ�ر/sن�ا'9ـــــــــ1Hs[�و�ا��>�
ـــــــــsن��Q'$	ـــــــــ�ر/sن�:���ـــــــــ
sن؟�Bـــــــــ��BـــــــــDا�uـــــــــ�ار ) ��X$��ـــــــــ)(


ــــــــ��5ــــــــ�رة�أ2ــــــــ�اد�¬$ــــــــ��ا�,�ــــــــ�ت؟u .ا��`ــــــــ�nــــــــ¼tأرة����@
5ــــــــ��³ــــــــ|}��ــــــــ[�ا<=6	ــــــــ)�2ــــــــ�ض�(	��ــــــــ)��2ــــــــ)��$
�ــــــــ)�إ�oإذا��¼ــــــــ��n>#ــــــــ

)�
	��-ا�0�[�) �># ~̂��	$#�.  


